Séquence de Nombres Linéaires (E)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
9048

| |
9498 9573

|
9723

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9612 9592 9582 9572 9552 9542 9532
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
4842 4822 4812 4762
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
8340 8315 8190 8115
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6756 6706 6681
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
3732 3682 3632 3432 3382
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
742 367 292 217 142
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
8638 8643 8648 8658 8668

Différence commune:

Mathslibres.com




Séquence de Nombres Linéaires (E) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
9048 9123 9198

| | |
9273 9348 9423

|
9573

|
9723

9648
Différence commune: 75
I I I I I I I I I I
9622 9612 9602 9592 9582 9572 9562 9552 9542 9532
Différence commune: -10
l l l l l l l l l l
4842 4832 4822 4812 4802 4792 4782 4772 4762 4752
Différence commune: -10
I I I I I I I I I I
8340 8315 8290 8265 8240 8215 8190 8165 8140 8115
Différence commune: -25
; ; ; ; ; ; ; ; ; ;
6856 6831 6806 6781 6756 6731 6706 6681 6656 6631
Différence commune: -25
I I I I I I I I I I
3832 3782 3732 3682 3632 3582 3532 3482 3432 3382
Différence commune: -50
| | | | | | | | | |
| | | | | | | | | |
817 742 667 592 517 442 367 292 217 142
Différence commune: -75
I I I I I I I I I I
8623 8628 8633 8638 8643 8648 8653 8658 8663 8668
Différence commune: 5
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